d- (2.35,..)
[2.3.5...) = -
- 2 10 4
3 3
. 3 5 5
e 3 1IB=2%x3 x3Ix- Stop 1
30=2x%3X-X5
H.C.F=2%x3=6
C) < of day = 24 ri: 6 hours = 6 x 60 = 360 minutes
4-a) 0
b) 256412307 = eelh..oorersmnnn. = 255 000 D00
256412307 - 255000 000 = 1412307
Good Luck
Mid=year Fouweth lgyilmm*y




Moth Q
Model (5)

I

Choose:-

a- 8 million

b-4 675933

c- 641 thousand

d- 35

e- an Obtuse angled [ 180 - (30 + 40)] =110

{- (2.3,5,..)

{2.3.5,..)

35 5

15 3 ; 7 7

5
_5. Stop l
|

Stop

15= 3% 5 x §
35=- %5 x7

L.C.M=3x5%7=105 N

2- .- : . 7 Icm
3-a)0,6,12 '

b)2,5,5,7
CiP=(L+w)x2

=(7+11)x2=18x2=36cm

Mid-year @ Fourth primary
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Math
Model (5)

Choose the correct answer.
a 7251309+ 748 691 =

b 5000000-324067=.....
(95 324 076, 91 675 933 ,
c 8x641x125=..

(641 theusand., 641 hundred , 641 millio
d The number 2 100 is divisible by ...... (35 19, 1
e XYZis a triangle inwhich m(zX) = 40° and m (.{'\"j SD"
then AXYZ is...... triangle.
(@ BgnFangled , an obiuse-angiad:, an angled
f The LCM. of15and 35is ...... 5" 105, 35, 5)

Draw the square XYZL whose side length 3 em. Join its
diagonals XZ and YL.

~a Multiplesof6 are......., ...... and ......

b Primefactors of 350 are ......, ...... and ......

¢ The perimeter of a rectangle whose dimensions are 7 cmy
and 11cm= N A

Tha H.C.F. u’f‘lﬂ and&ﬂls | L

e ofaday=... hours= minutesi

=

Calculate 2 106 425 + 894 075 - 3 000 500.
Find the number that if subtracted from 256 412 307, then
the remainder will be 255 million.

oW

'&:ﬁ ﬂl:&}'ﬂﬂ:l_" Ew!-]_l !ﬂ’!i'l-ﬂ-ﬂ"l“ﬁ'




2
O

5 Draw the rectangle ABCD ,Bc=4cm ,AB,3cm’

1_

- -3 R g D
2-W=24m \\ x”f
L=24%2=48m S
P:|:L+WF“E 1cm s
=(48+24)x2=144 m i “-N_H

3 i
B . -
&cm

Mid=year Fourth primary




2. ‘-

1- 625933

2-7 -

3- («Z)=180"- (40" + 30" )=110°
Obtuse angled triangle

4- 2

3 2

6- 641 thousand TSRS
3- Put [¥') or (%) and :q};ﬂﬁfi.-;-

1- (=) 1204 “

2-(v) .

3-(%*) areas

4-(v)

5-(v)

6-(v) e

1- 19836+6=3 1 r=0o

(Without using ¢

2-220=5nx2x2 %]l —

330=5x2x-.x11x%x3 5
LCm=5x2x2x]]x3=660

1x4=
I%4= 8
3 %4= 12
axa=16
%42 20
6 Xd= 24
7 %4= 28 i
gx4= 32 |
Ix4= 36
3306
; 1983
oL\= =6 lﬂ‘l’
axg=12 | 18
3x6=18| 18
4xg=24 | 0036
5x6=30| 36
6xg=36]| 00
7 %6= 42
Bx6= 48




r ¥
Mat

4-70
1
[2,3,57.11.13,..)
14
(2.3,5.7.11,13,...) 10 5
14 7 2 2
z 2 Stop 1
Stop 1

L.E.Mr?rgﬂﬁs?ﬂ il
5- 765276
b—5=L—:=£=9:m
P=36

Mid-year Fourth primary




Math
Model (4)

nﬂ'mnplﬂr the following :
1.94 million » 35 thousand 5 153 = ...
2. The value of the digit 3 in the number 3721014 = oo :
1. The H.CF of the two numbers 16 and 24 = ...
4_The L.C.M of t he two numbers 14 5 10 =
5. 465276 + three hundred thousand = - .
6. The length of the side of the square whose perimeter 16 I = .

Choose the correct answer :
1. 950000 — 324067 = - .o - (324076 or 625933 or 675933)
2. The number 2100 is divisible by (7 er 11 or 13)
3ﬂI'!’Imwhlchml[LK}"slﬂ"sm[.v_‘t']-m“ ythen A XY Z is -
{ acute Elngh:d riangle or right angled triangle or obtuse angled triangle )

4. The number 108 isdivisible by the two prime numbers 3s - {(S5or7 or2)
5. The number =+~ is prime number . ' (6 or 8 or 2)
6.8 %641 x 125 =" { 641 thousand or 641 hundred or 641 million )
ﬂ Put (¥} in frant of the eorrect statement or (X) in [front of the incorrect ane :
1.4816+4 = 124 ()
2. In the AABC if m (. B) = 105° » then it is possible o be an obtuse angled
triangle.

3. The square melre Lu’l"} is used for measuring the p:nmetﬂr&uﬁhl: shapes.
4. The two parallel straight lines never intersect each uthtr

5. The area of the square = side x side

6. In a rhombus » all the siﬂr,'.a m&quul hrln;:n,glh

. I Find the quotient of 19836 + 6 ; (without using the calculator)
3. Find L.C.M of the two numbers (S x 4 x 11) 5 (Sx6x 11)

B ! Drw the rectangle ABCD in which BC=4cm. ; AB =3 cm.
dmaw AC intersects B[] atM
2. A rectangular picce of land » its width equals half its length » Calculate its perimeter
if its width = 24 metre.

Il.
g, g, g,
L

Fouwrth llfilll]-'g'l] ¥




Mait
Model (4)

1- Complete :-

1- 94,035,015
2- 3,000,000

3_ E 14
23.5.7.11.538...)

16
(23571113, 24 3
16 2 B 2
a
: a 2
4 2
F - 2
2
: Stop ' 1
Stop 1
16= 2 e | a2 . 2 . 2 f
24= . » | 2 x ? L] o #

H.C.F=2x2%2 =38

M g-l‘:yg.g{- @ Fourth i_uaium-g Y




Math

[P -
2121
‘Iﬂa 'EITF 1--1'13' . J 1L!-r5r‘!l.l 1..1 |l]-|..-.|
7 7
3 : |
Stap 1
Stop 1
7= 7 : e
L 3

3= =

L.C.M=7x3=121
3- Pentagon

4-90°
3-100>50
6-5348475 > 300000

)

1) m (< 2 )= 180° (45" + 45° ) = 90°
2) Right angled triangle .
b} | h .: .
A, Of square =5 x S
=5 %5 = 2560/ a7 s

A of Rectangle=L = w
=3x%x2=6cm’

A. of shaded part =25-6=19cm’

Mid =year Fourth u_g!ﬁiuaﬂ-guﬂgff




3- Complete:-

1- Prime number
2- Equal
3- 50 cm

b)5372 +11=488 r=4

4) Complete :-

1)6
(23571113,
18 3
L 3
1 : 1.':.
Stop 1 .
18 =
3
|
30 =

H-E.FZEHE:E

488
1)

488
4880

5368

2312 N

(2.357,1113,.)
30 3
10 5
- 2
Stop 1

%3]

Fourth primary




Model (3)

n Find the resnit of each of the following :
{al T =+ 35 = i (b A5H5% « TOAG=
(e 123 = 18 moaisien - () SOO00 - TRASEG =

n Choose the correct answer »

1. Hundred thousand and three hundied scveniy five is .
{ 10315 e HXYYS oF 1375)

The greatest number formed from the digitsi 4 + 1 =5 23 « 2 and 9 15
(45321 or 123459 ar 95432] )

. The smallest prime number is - (1l ar D or 2)

8]

Ll

4, The value of the digit 4 m theatimber SA6TED in-.
EAO0) o 000 or 4000000 )
. The perimeter af squane whiose side lemgtir 3 imee - [Som. or 6em, or 12cm}
O, 105 jis divisible by o s o) (23 or S22 0r 5:3)
- {a) Complele .r.'uﬁ'.'-f.l'nwf.uh : _
. The numiber wh.iﬂl has only two factors is called ... -
2. The Lllngunal:_g‘i' the rectangle - in letgth, .
3. 5dm. =08 em
ib) A number if it &6 divided by ] the gquotiengis -ZI_:H_E fand Tl:ln.'ll'.l':-.;tﬂ!' # 5 whai ix this
pumbeer
n Complete the following :

1.HC Fl'nrr'h:,trwu numbers 18 « 3048 .o
P !ur-’l.'h-u'm“umhﬂm? = 1
A. The ['.H_rlj'gnﬂ ol 5 -lldn is called .

. The uh:uz.l.uti;':f‘rhn:mhl angle = . e
'i-lnl'u I’Qﬂ-r—-!:‘{cl:ymhm:--.-:u.w ¥
fi. S3RATS - “rllulrﬁ.wd*ﬂﬂthmm i -

ﬂ(u) Dmw A XYZ in wh'ﬂ-_h I,'!:";:S-gm, .mﬂ‘ 1}-& I‘-!'H‘L '!ﬂﬁ,-_-.;tﬁ' s fid
] Measure o & J 1 o

2. What is the type of A i4lE"I"".'£'lll;mr,l,i;fclu'lg
tos thie mieasures of ity ungles,

= = £ -r i 1L .'l.'.ll‘_
(b} In the opposite figure ; e I:-ﬂ:l.ﬁ'ﬁ i
Find the area of the shaded part »

the outer shape is o sgquare of side length 4 cm

2om

and the inner shape 15 o rectongle
of dimensions 3 cm. » 2 cm. R
5 cm

Mid=year @ Fouwrth primary




Model (3)

1) Find the resuit each of the following :- 02002
a) 02002 _35 | ?“E'IU
1x35=35 |-70
b) 43795 2%35=70 0o0/0
3 x35=105 - 19
Q186 4%35=140 00
d) 11544 3 ¥33=175
6 ¥35=210
7 %35=745
Bx35=280
9x35=315
123
=15
015
1230
1845
2) Choose:-
1. 100375
2, 954321
3. 2
4. 40000
5. 12cm, P=(5%4)=(3x4)=12 cm
6. 53
Mid=year j!!iLL Fourth primary
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4- Find the result of :
1)
a) 8238023
b) 461879
c) 19975
235
= 85
+ 1175
18800
19975
* 012
Z) 192 + 16 = 12 Flogrs
16 | 192

1%x16=16 |-16]

2%16=132 032

%16 = 48 -32

A% 16 = 64 00

5%16 =80

X6 = 96

7X16=112

8 ¥16= 128

9 %16 = 144

Mid=year @ Fourth primary




5 Find
1)
28
[2,3,5,7.11.13,..)
28 7
4 2
2 2
Siop t
28 = [ L 2 Ly
: 7 H F L
42-

H.C.F=7Tx2314
L.C.M=7x2X7J%3 =84
Z) a) Area of r'ectang_!E:L!w

=9x12=108cm’
b) The Premiere sf{iL+w ) x 2

= S"_-+.il bx2=42cm

Mid=year @

42

12,3,5,7,1L13,..)

(Stap]

47

]

2
1

7

3

2

Fouwrth primary




Model (2)

1 - Complete the following:-

1- Are right angles
2- 56 m’
3- lero
4- (side length x 4)
5- 3,132,081
B- 30,000
2- Choose :-
1- 18
-
3- Even
4- 4
- |
2,35 7.11.13..)
& 2
‘ 2
£ 2
Stop 1
8= 7
F
1=

12
235711113, )

P . :.:l- !
i 4 2
3 3

Fourth ‘.Jl!.!_l’lill-‘l]-g'l] A




(g

5- 700
6- Equilateral triangle

3) Complete the following :-

e

2. Bisect

3, 1565178

4. 180° - [ 62 + 817) = 37" acute angled triangle
5. 403

00403
60 | 24180
1%60=60 |-240|
2 %60 = 120 | O01BO
3xg0=180| -180
4%60 = 240 000
5 %60 = 300
6 ¥60 = 360
o Wl 60 = 420
E%60=.450 _
%60 =54071 7

Mﬂkﬁﬁﬂt @ Fourth primary




Model (2)

n Complete the following :
_The rectangle is a parallelogram in which its angles -

2. 5600 AM® = oo m-,
F. vierr is the common multiple for all numbers.
4. The perimeter of the square = .- =

L

The number 3 million » 132 thousand » 81 in digits is
6&. The value of the digit 3 in the number 21538006 is -

H Choose the correct answer !

[, esioeenr- 15 divisible by 2 o3 (10 or 1B or 21)
2. 32605108 v 23891998 29 (> or < or =)
1. All the -~ nuinbers are divisible by 2 (odd or even or pnme )
4, The H.C.F of Bis 2 sgr. ' {2 or 4 or 8)
5 25 x 7T = d= g rFioAsiBIE fly (36 or 700 or 179)

6. The triangle whose side lengths 6 cin. 18 oo
( scalene wiangle or equilaleral trinngle or isoscles triangle )

Complete the fulhm.ing >
| The number of the factors of the prime number is

2. The diagonals of the parallelogram ... each other.
3. 2565178 — ong'million = -
Fl

1f the measurgd Ol two angles of a trangle are 62° 5 817 s dhen this riangle s
angled triangle, el
5. 24 Iﬁﬁ + 60 = -

(1) Find the result of :
(a) S034567 + 3203456 =8 Ld (= |
(b) BO3TS6 — 431877 = e
(Y 2A5 K B = vovrrimere
(2) A hotel contains 192 rooms divided equally by a number of floors » each floor
contains 16 room How many floors are there in this hotel ¥

| Find H.C.F » L.C.M of the numbers 28 and 42
2, Rectangle its dimensions are 9 cm. » 12 em. Find :
(a) Its ares
(b) lts perimerter,

M d=year @ Fourth !gyjlmg By




Math

5) The greatest = 975,420
The Smallest = 204,579
The difference = 975,420 - 204,579 = 770,841

b- The price of one meter=648 +- 24 =27 LE

027

24 | 648

1% 24 4 | 48/

2% 24 =48 -lEB

168

I w2l =72 000
A% 24=96
Sx 2 =120
bx 24 =144
7 % 24 =168

Mid=year @ Fourth primary




3) Find :-
a) 9,191,828

b) 200,012

436
59
3924

c) 25,724 ’

i 3024
21800

25724

d) 428

00428

36 [ 1540
1136 | 1444]
100
. Lo,
3| 108] T g3l
4f144| 288
<|ig0! 000

Fourth primary




e

30
[2.3.5,7.11,13. .}

30 1
10 5

2 2

4
24
23571113,
24 2
12 g
) 2
3 3
24= Stap 1
3{]: 3 "
HCF=2x3=|62 .

L.CM=2x2x283n5 120

B)

1- Ac=5.5¢cm

2- Scalene Triangle.

Mid=year

@ Fouwrth primary




3) Find the result of each of the following:

2. 8752013 +439815 =...0ciiinriren
b, 7256312 — 7056300= ...............

L3I0 R I =i

- E08 <30 = Lo

4) (a) factorize the two numbers 24 | 30 to their prime factors | then [ind.
. H.C.F 2. L.CM

(b) Draw A ABC in which AB=¢¢m, m{Z2B)=060", BC=4., then
I. By using the ruler find the length of AC.
2. State the type ofA ABC aCcording to its side .Ilu.*ngt._hs.

5) (a) Find the greatest and the smallest number formed from 6 digits using the
following digits : 7,0, 2, 5, 9, 4 then Calculate the difference between them,

(b) Eman bought 24 meters of cloth for L.E 648 find the price of one metere,

Mi d=year @ Fourth @gjllﬂwm-y




Model (1)

1- Complete :-

Wilr EA th

- 003 ,045,473,000
-5
- 2 factors

- 300 dm’

o L Ped

L
3

6- 10 dm = 100 cm
P=(L+w)X2=
(180 + 100 ) %2 = 280% 2 =560 cm

= 8 hours

2- Choose :-

1-5,3
2- Square and rectangle

3- 0
4- 10

>-3b=b6%6
50,5=6cm
P=sx4=6%x4=24=24cm

G- Million.

Mid-year @ Fourth primary




Model (1)

Complete each of the following:-

1. The number 3 mulliard, 45 mullion, 473 thousand 15 wrnitten in digits as.........

2. The prime number whose sum of factors 615...............
3. The prime number has only..........[actors.

43m e dm’

5. %-.ﬂ"u day=................hour

6. 1f the dimension of door in the form of o rectangle are 180 cm . 10 dm , then its
PETIMEIEr =.......ds 000 vie cim.

2) Choose the correct answer:-

1. The number 15 1sa common multiple for the two numbers.............

n 2.5 b. 3.4 G 2.3

2. The diagonals are equal in length in....... HA.....

a. square and rectangle b. parallelogram and rectangle

¢. rectangle and rhombus d. square and rhombus

3. .....oron1s 0 common multple for all number,

1. Zero b1 c 10 d. 100
4. The milliard is the smallest pumberiomitd from............ dugts,

a. 7 b.8 c. 9 d. 10
5. The perimeter of o square whose aren 36 m™ is..............

a. 24em b. 144 cm c. 1296 cm d. 72 cm
6. The place valve of 5 in the number 5612816 15..............

a. Thousand b. Milhon c. Tens d. hundred Thousands

M d=year @ Fouwrth primary




